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Instructions :

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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‘Silk Route’ refers to :
Network of routes connecting China and Rome
Network of routes connecting India and Rome
Network of routes connecting China and India
Network of routes connecting Asia with Europe and Northern Africa.
OR
Which one of the following problems was not foced by cotton weavers in India?
(a) Export market had collapsed
(b) They did not have good quality cotton
() Imported goods were cheap
(d) There were frequent strikes in Indian industries
OR

Which of the following factors did not encourage migration into Bombay on a large
scale?

(a) Bombay dominated the maritime trade of India for a long times?
(b) Bombay had enough job opportunity for all who came

() Railways encouraged higher scale of migration
(

d) Famine in adjoining regions such as Kutch drove people into Bombay

Most Indian indentured workers came from present regions of
(a) Uttar Pradesh (b) Bihar
(c) Dry districts of Tamil Nadu (d) All the above

OR
In Victorian Britain, the aristrocrats and bourgeoisie preferred hand made goods as:
()
b)

They were cheap
They could be obtained easily

(
() They were made of better material
(

d) They symbolised refinement and class
OR

Which of the following industries in London did not employ large number of people in
the 19t Century?

(a) Clothing and footwear (b)  Wood and furniture

() Railway manufacturing Printing and stationery
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Which of the following reading material were especially for women ?
(a) Chap books (b) Penny magazines
() Grimm’s Fairy Tales (d) The Bible

OR
Which of the following were written with adolescent girls in mind?
(@) The Jungle Book (b) Ramona

() Treasure Island (d) Robinson Crusoe

The Vernacular Press Act of 1878 was modelled on :

(a) Irish Press Laws (b) American Press Laws

()  Chinese Press Laws (d) German Press Laws
OR

Who among the following is the author of “saraswati vijayam” ?

(a) Potheri Kunjambu (b) Chandu Menon

(c) Premchand (d) Devaki Nandan Khatri

When running water cuts through clayey soils and makes deep channels, they lead to :
(a) Gully erosion (b)  Sheet erosion
(c) Deforestation (d) Afforestation

Which of the following is not one of the reasons for depletion of forests ?
(a) Mining (b)  Multi-purpose river valley projects
(c) Grazing (d) Creation of shelter belts

Large scale irrigation has led to :

i)  Changed cropping pattern in many regions

ii) Increased salinisation of soil

iv) Increasing gap between the rich and the poor farmers

a) 1,1, iii

(
(
(iii) Average reduction in crop production
(
(
(

)
b)

c) iiiiv

1,1ii, iv
(d) i, iv,iii
In which of the following states of India rice is considered a commercial crop ?

(a) West Bengal (b) Orissa (c) Bihar (d) Punjab
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Which of the following statements is not true.

(a) In Belgium, leaders realised that unity of the country is possible only by sharing
power

In Sri Lanka, the majority community wants to force domination over others

In Sri Lanka, the demand for more autonomy to provinces populated by Tamils
has been granted

Division of Belgium along linguistic lines was averted due to power sharing

In the city of Brussels
(a) 80% people speak French while 20% speak Dutch
(b)

(c) 80% people speak German while 20% speak French
(d) 80% people speak German while 20% speak Dutch

80% people speak Dutch while 20% speak French

Which of the following countries is an example of ‘coming together” federation ?
(a) India (b) Pakistan (c) USA (d) Sri Lanka

Which of the following divisions is unique to India ?
(a) Gender division (b) Caste division
()  Economic division (d) Religious division

Which of the following is most likely to be a development goal for landless rural labourers
as :

Higher support prices for their crops

They should be able to settle their children abroad
Raised wages

None of these

Which of the following states of India has low IMR
(a) Punjab (b) Kerala () Bihar (d) None of these

Which of the following activities does not fall in the tertiary sector ?

(a) Banking (b) Communication
() Manufacturing (d) Transport

Agriculture, dairy farming are activities belonging to which of the following sectors ?

(a) Primary (b) Secondary
(c) Tertiary (d) Scientific technology
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PART - II

The testimony of an indentured labourer :

Extract from the testimony of Ram Narain Tewary, an indentured labourer who spent
ten years on Demerara in the early twentieth century.

in spite of the best efforts, I could not properly do the works that were allotted to

in a few days I got my hands bruised all over and I could not go to work for

a week for which I was prosecuted and sent to jail for 14 days new emigrants find

the tasks allotted to them extremely heavy and cannot complete them in a day...

Deductions are also made from wages if the work is considered to have been done

unsatisfactorily. Many people cannot therefore earn their full wages and are punished

in various ways. In fact, the labourers have to spend their period of indenture in great
trouble ...

(i) What happened to the worker in a few days of joining work?

(i) What happened to him when he was not able to complete the work allotted to
him?

How were the workers punished when the work was considered to have been
done unsatisfactorily?

OR

Vasant Parkar, who once a millworker in Bombay, said :

‘The workers would pay the jobbers money to get their sons work in mill.... The mill
worker was closely associated with his village, physically and emotionally. He would
go home to cut the harvest and for sowing. The Konkani would go home to cut the
paddy and Ghati, the sugarcane. It was accepted practice for which the mills granted
leave.

(i) Why do workers pay jobbers?
(ii) In what ways did the mill workers remain associated with the village?
(iii) Why did mill workers go to the village?

OR
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The many sides of Bombay
My father came down the Sahyadris
A quilt over his shoulder
He stood at the doorstep
With nothing but his labour

I carried a tiffin box

To the mill since childhood
I was cast the way

A smith forges a hammer
I learned my ropes
Working on a loom
Learnt on occasion

To go on strike

My father withered away toiling
So will I, and will my little ones
Perhaps they too face such sad nights
Wrapped in coils of darkness
(i)  Where did the father come from ?
(i) Why did he come to Bombay ?
(iii) Write one similarity between the father and son’s life in Bombay.

Write any three innovations in printing technology in the 19th century and 20th century.?’ 3
1=
OR X

State the significance of the novels of Premchand. 3x1=3

What was the contribution of print culture in the growth of nationalism in India? How
did the British attempt to check them? 1+2=3

OR

With the help of an example show how the early novel in Europe contributed to
colonialism ? 3x1=3

How did ideas about science, reason and rationality find their way into popular literature
in the 18t century Europe? 3x1=3

OR
What led Chandu Menon to write Indulekha?

Explain three reasons for land-degradation.
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Why is conservation of forest and wildlife necessary ? In what way has conservation
projects changed in the recent years ? 2+1=3

Explain three methods of traditional rain water harvesting techniques in India. 3x1=3

Explain two reasons why power sharing is desirable ? 15+11,=3

How is political expression of social divisions in democracy beneficial ? 3x1=3

With the help of two examples show how social divisions affect politics ? 112+1%2=3

In what ways are women discriminated in our country ? Write any three points.  3x1=3

What is development? What are the two aspects of development ? 1+2=3

Why are countries of the Middle East not called ‘developed” inspite of high per capita
income. 3x1=3

What is Gross Domestic Product? Which departments carry out the task of measuring
the GDP in India ? 1+2=3

Why is agriculture an activity of unorganised sector in India ? 1+2=3

What was the role of technology in transforming the 19th century world? Explain with
an example.

OR

Why did industrialists not want to get rid of hand labour once machines were
introduced? 4x1=4

OR

How did the condition of women workers change from 19t to 20th centuries in London?

Explain any four 19t institutional reforms carried out by the government to improve
agricultural production in India. 4x1=4

How has federal power sharing in India become more effective than in early years
after the constitution came into force? Explain ?
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Distinguish between organised and unorganised sectors. 2+2=4

Three features with serial number 1-3 are marked on the given political map of India.
Identify these features with the help of the following information and their correct
names on the lines marked on the map. 3x1=3

1.  Soil type
2. Major producer state of wheat
3.  Forest type
OR
Locate and label the following with appropriate symbols on the map.
1. Hirakud Dam
2. Major producing state of tea
3. Corbett National Park

Note : The following question is for the visually challenged candidates only, in lieu of
Q. No. 36

36.1 Name the Tiger Reserve in Uttarakhand
36.2 Soil type in | & K region

36.3 Name the dam the river Narmada.

-00o0-
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Tt @ erfuym ® -
a) =9 SR IA I ST AT AR A1 ST
b) 9RA TR W FI SreA AT AET R A
¢) ¥ SR IRA hI e ST TR H1 A
d) TR H UM SR 3T 1Rt ¥ SireA AT "l 1 S
3rerar
freAfafed # @ ®F 9 U TS H1 9T IRAE JFRY i 81 BT TSl o7 ?
(a) Traid IR for@X T o
(b) A% U 7= fohreH 1 HU Tl ot
(c) Tmnfad Sqy wdt off
(d) YRAT I H AR gearet gt off
rerar
frfafea § @ fFg orE 3 92 § 98 TR W A 61 9@ o7 &1 &/ &l fomar oar?
(a) YA o HHG! SATIR R T3 I Soacdl o1 gl o
(b) SR H M Al % fAC TE § W ISAIR o STTER &

)
() &I I IOH W IS h e far o
(

d) oS SY I g & H THa ¥ T i 3R AN 9 o

TRt WA STIaf-4d FfHeh YRd & adq &5 § 9 9 -
(a) WU (b) feR
(c) TS % ok T d) S Gt
3AAqAT
fogaif foea ®, 3=1 avf & Fef IR gefiufa ot greff @ ot =Sl &1 awig (SemEn) <d 9
Fifeh -
(a) o &l eft
(b) 3 SATEMT & Y@ foRaAT S Hehar o
(c) o IET WA § I Bt off
() % IR IR gela &1 yofter W S o
3AAqAT
Frefafed # 9 @eT & & 9 TR 19 o T | oS F& # @l bl ISR SYersy T8 w

(b) IS SR FAR

(d) =1 R T&h

1080704-C1




freafafaa & @ =9 @1 Tgr %1 @ree fogves Mt & fog o ?
(a) =9 I (Th T o) (b) T St (T ST )
() T Had | (d) =T
3AUAT
freAfafed # 9 o1 9 T fFmfEl & e 8§ v faet 78 o 2
() T TR (b) T
(c) TR amEeie (d) dfere g

1873 =T STRC U9 THE i a1 G a1 o1 -

(a) SER HEA (b) SRR TH FTA

(c) i IW wrd (d) S 9E T
AT

frefafead # 9 St fasam &1 @ &H o1 ?

a) W HI (b) == HH

) YHE=R (d) <ol T Gl

(
(

el STedl g3l STl Yrashe Geiai sl hied g el anfgshd sl € |l Sl Bl € -
(a) STofThT STIRGH (b) ST G
(c) oHIEH (d) =R

frefafad & 9 T S % g™ H1 HRO TE Q2
(@) @I (b) wgIeRM 7t = s
() WA (d) T H@a & i

¢ T R fg=rg 1 ufom © -
() S &F ° wEA =96 | qiEdd
(i) H ¥ wEview gig

(i) HES Icared H e fee

(iv) 9 AR SR fhaml & = agdr ween
(

a) i ii, iii (b) i, iii, iv © i iiiv (d) i, iv, iii

frafafed & 9 wra & g T o = = aifvifsae $ia % ¥ § S <7 © 2
(a) Tfeet S (b) &
(c) f=r (d) S

1080704-C1




HfefEd § S HUT G T8l ¢ ?
Sfesam & Jareli 3 s9a foran o v f Wmaert ¥ € <9 § T o © ehdl ¢
i <ieh & TEHEIH THEE 3Tcd TR i e T =ed ¢ |
ot oieh H, after sget Ieu i e Tt Y &t T B
TaT 1 WP W, 9T TR R dfesam faafsa 29 @ o= )

T L H -

(a) 80% <N = Selfeh 20% S O ded & |
(b)  80% W T elfeh 20% Frel AT Tl € |
c)  80% &N SHA S@feh 20% = o e |
d) 80% N SHT SEfsh 20% o W1 Slieid § |

frefafea § 9 =9 91 29 91y A1 9 o9 H1 T IS0 § 2
(a) 9@ (b) TUfREM  (c) EIF TI HRH (d) e

frefafea # @ 9ra & fau fa yar &1 fawse stoenfia €2
(a) TR faweE (b) Sfaa fawrsH
(c) oTfe faweH (d) wifer fawem

frefafea & 9 &9 i o gfgewi & fog fawmm =1t d@ed & g € -
(a) STI HHA & AU S WA Yoo
A F=ii ol fooe | o Irg oA

feafafaa A a fFe T 4 R gg R F0 © 2
(a) U (b) (c) f=r

frefafeaa & @ =0 @ 61 gdtaes & & favia Tef Tt § -
(a) ifebT (b) ¥IR (c) fafmio

Ffu, T30 (Tu) FAfafea o @ g &me @ qrafa 82
(a) wefTE (b) factoe (c) T

1080704-C1




17. Ue Rfafesn Heigl &t e -

T faard wRa | MU firfufean weiqr 9 e it |t 1 e # A § <9 |
T fRAT o1, 3Tk HERT 6T Teh I -

THTH RN o STerS[E | S I o1 Stk § Te1 L I S Jgi WY 13 9 |
Fo & el # T e Re ¥ fed U SR # g9 R T v WAL o1 wrn foreeh fa w3 5
3 T iR 14 foT S| # @A W T FATTGE! Rl HTH g 9 TSl o1 R J o swH
SO T QT & B I o | SR T HATTSTeh @7 ¥ qU 72l &1 I dl T1ea8 e ot
STt ®, ST Sgd TR AT b1 ShT X S el T0e 911 € S7R 3 q¥e g R Holl < ol g,
TXITHA AT hl ST T it 31ty H i Yfvawedt # forart Tt B 1

(a) 9 YT BF h FO THA & AIC ATHRI HT FAT ST A1 7

(b) 9 39T HE FHA W YA A B T 1 Tk T HAT Sl o1 2

(c) STHAISISS HTd THS S TR il 1 = << foan smar an?

AT

TS o Teh A ASigl aHd IR A el -

‘IR 3T o ! T § M W W@e™ & fa SifeR i 99 <d 9

I &9 | 3T Mdl § Te dR R IS BId &, T8 TG ST WHT! i helg Il o | Hichvi
TR T e IR =1 AN T e M | |1d 9 | I8 T Wik Faw off g fau fya
I BEl S <d o

(a) S (FSIG) SfeR &1 98 i <4 & ?
(b) ol Ao fhe YR Mg | 92 B 92

(c) THa AR Ma i STd 9 ?
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TS % S oET
T a1 wenfs § e 9
TR wiEe WEe € M 9
Th HY W A T S
3R 2 # wiferd sm & for
feftRa ame @R §¢
et qe <an on
O 9§ U8 g e e
Y TER FUIEl AT
T 8 W& S Fre dhan
3R Hoft Hoft TeaTa TS o
T 919 Hgl i i @ ¢
# off ggm R R a=A
S oft firettht Qe e Td

(iii) faT 3R g3 & o= T F oA HT UH GHFA Ty 2

19 =t iR 20 ot vraTest H YU qehATRT § ST 14 gfedil % aR H fafaw - 3x1=3
arerar

YIS o YA i el T fefau - 3x1=3

IRd # Tgae ¥ g & fau g0 S&hfa 3 F1 9 fu 9 ? fafew wmee 3 3% 391 & fau
F g Ry 4 ? 1+2=3

AT

Teh I & HEgH 9 foEsy for 709 # yrfres Su=Ei 3 Sufasene | 1o AreE fea
3x1=3
oa1?

fhe YR faam, T iR faasarg 18 of Il o A4 Hifecd § SToT S8 91 & 97 3x1=3
YT
o RO | =g 799 7 $geraT & wEd R o1 ?
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ofty freftenor o 19 o w9m fRfaw

T IR Fearsita oo =i SAferd § 2 forra ot | S rsieey (afdise) § @ aiadd

3:|Ta 9}[7 241=

IR B T ST a9 WU & i ekl 1 T fRfsg -

3

T T WIRGR & SIEmi o <1 R w9y fafs 172+172=3

ks § TS fI9TeH &1 Toiae Afqeafa faa THr oy § ? 3x1=

2 ISR 1 Hee ¥ T HIfST o g YR i faumeq Toifa s gafad & 8 2

1%2+1%:=

TR AW ¥ el & wy fa YR #1 deuma gt € 2 i o fawgsti # fafau 3x1=

foera = ST B 2 fah & ) TR AT ? 1+2=

HeAqd & <9 it i A o eiferek B % wreee off 5% fasfd o TEf FR @R 2 3x1=
Yhel ] TS 31 JI1 § 7 9Rd B i |1 fI9m Tehet Ske] S Rl W9 1 hE FET R 2 1+2=

IR o Hivehr w1 rmfed & &1 f55a1 =1 | o € 2 142=

19 ot vl & fava H MU el | dehieh 1 1 JNTEH o7 ? Uk S8l & HIeqH 9
HHHARY
AYAT

JUNTI(T Tk IR AT o STTHA & oG ot 819 % 99 | Fehr I il Tl ared & ?
areraT
19 =f | 20 o vATst 9% <icd § Bt HfHe] i ged | fRE TR IRed 2 & 2

IR H HTT Scared # gfg & oI TR & g T Tu #7E 9R Temmd gurl %1 w0 R 4x1=
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34. WY @F 89 % 9K YRA H SHE Hdl w1 OGN, T8 i ofe feg YR sifyew 4
JTETE! 9 TS § 2

Hfed iR erefed & & Hed ST IV - 2+2=4

feu Tu vYRa & ToTfaes W gEfes § ¢-3 a9 i aeTor ifehd fhe AR | e S T SR %
3TTER 7 AL ! TgaIY TR ST W&l 78 gHfas § <t 18 3 R fafan 3x1=3

(1) 9e1 &1 J&R
(2) R ® IHE IARH T
(3) =i @1 TER
aroran
feu Tu wRd & Terifask Y Tt # frefafaa @ feufa sweds o=l & e 3 gurisy
(1) BNFHe Y
(2) =T H1 YHE SARH T
(3) e Toel Tk
e : fr=fafed wv Swaa =fEdh et & fau 7o 9@ 38 & W WE,
36.1 STUEUS & I e &1 71 dqEy
36.2 S SwIHRH Ta1 1 94 fafey
36.3 THS &l W & diE I AW FIqBT
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